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1. ¢mkv dqanÂ ]mT-]p-kvX-I-¯nÂ t\m¡n-bn-cn-

¡p¶ Hcp Ip«n s]«¶v »m¡v t_mÀUn-te¡v
t\m¡p-t¼mÄ, Xmsg ]d-bp-¶-h-bnÂ GXv

{]hÀ¯-\-amWv I®nÂ \S-¡p-¶Xv

[a] koen-bdn t]in-IÄ Npcp-§p-Ibpw

se³knsâ h{IX IqSp-Ibpw sN¿p-¶p.

[b] koen-bdn t]in-IÄ Ab-bp-Ibpw

se³knsâ h{IX IqSp-Ibpw sN¿p-¶p.

[c] koen-bdn t]in-IÄ Npcp-§p-Ibpw

se³knsâ h{IX Ipd-bpIbpw sN¿p-¶p.

[d] koen-bdn t]in-IÄ Ab-bp-Ibpw

se³knsâ h{IX Ipd-bp-Ibpw sN¿p-¶p.

[e] koen-bdn t]in-IÄ Npcp-§p-Ibpw

   se³knsâ h{IX hyXym-k-an-ÃmsX XpS-cp-

   Ibpw sN¿p-¶p.

2. BIkvanI kµÀ`-§-fnÂ Dt¯-Pn-X-am-Ip¶

knw]X-än¡v \mUo hyh-Ø-bp-ambn _Ôs¸«

icn-bmb {]kvXm-h\ GXv

[a] DZ-cmib {]hÀ¯-\-§Ä Dt¯-Pn-¡-s¸-

Sp-¶p.

[b] ]n¯-c-k-̄ nsâ {khWw Xzcn-X-s¸-Sp-̄ p¶p

[c] aq{X-k©n ]qÀÆ ØnXn {]m]n-¡p-¶p.

[d] Dan-\oÀ DXv]m-Z\w IqSp-¶p.

[e] s]cn-ÌmÄknkv Dt¯-Pn-¡-s¸-Sp-¶p.

1. Which of the following mechanism will occur

in the eye of a student who is looking in the text

book then suddenly looks on blackboard.

[a] Ciliary muscles contracts, curvature of lens

increases

[b] Ciliary muscles relax, curvature of lens

increases

[c] Ciliary muscles contracts, curvature of lens

decreases

[d]Ciliary muscles relax, curvature of lens

decreases

[e]Ciliary muscles contracts, curvature of lens

no change

2. Select the correct statement in connection with

the sympathatic nervous system which

stimulates during emergency condition

[a] Functions of  stomach stimulates

[b] Promots the production of bile

[c] Urinary bladder regains to original relaxed

state

[d] Increases the production of saliva

[e] Peristalsis is enhanced

OR

Choose the correct answer.

………….........… a…………………………… Hydra

………….........… b………………………….... Plasmodium

………….........… c…………………………… Planaria

…………………. d………………………...…. Rhizopus

Binary fission   amoeba

[a] a- budding b- multiple fission c-spore formation d-regeneration

[b] a-budding b-spore formation c-regeneration d- multiple fission

[c] a-budding b-spore formation c-multiple fission d-regeneration

[d] a-budding b-multiple fission c-regeneration d- spore formation

[e] a-multiple fission b-regeneration c-spore formation d-budding
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3. Select the correct statement related to alzhimers

diseases

[a] Degeneration of ganglion in brain, due to

the reduction in amount of dopamine, a

neurotransmitter

[b] Irregular electric waves in brain

[c] neurons becomes degeneration due to the

deposition of plaque

[d] neurons becoms degeneration due to the

genetical problems

[e] All of these

4. Identify ABCD in the given flow chart

[a] A earossicle, B chochlea, C ovalwindow,

     D eardrum

OR

Choose the correct answer

b

results in

a

c

Higher level of  glucose in the blood

Secrete

stimulate

b

results in

a

c

Higher level of  glucose in the blood

Secrete

stimulate

[a] a-Adrenal gland , b-Adrenalin c-More energy  release
[b] a- Adrenal gland, b- glucagon c- glycogen formation
[c] a- pancreas b- insulin c- glycogen formation
[d] a-Pancreas b-glucagon c-glycogen formation
[e] a-Pancreas b-insulin c-bring down glucose level form normal

3. Xmsg \ÂIn-bn-cn-¡p¶ {]kvXm-h-\-I-fnÂ

AÂjo-aÀ tcmK-hp-ambn _Ô-s¸« {]kvXm-
h\ GXv

[a] tUm]an³ F¶ \mUob t]mj-I-¯nsâ

Ipd-hp-aqew Xe-t¨m-dnse Kmw¥n-tbm¬ \in-

¡p-¶p.

[b] Xe-t¨m-dnse sshZypX Xcw-K-§Ä {Ia-c-

ln-X-am-hp-¶p.

[c] t¹Iv ASn-ªp-IqSn \yqtdm-Wp-IÄ¡v \miw

kw`-hn-¡p-¶p.

[d] P\n-XI XI-cm-dp-aqew \yqtdm-Wp-IÄ \in-¡p-¶p.

[e] Ch-sbÃmw icn-bmWv

4. ^vtfm NmÀ«nse ABCD F¶nh DNn-X-amb

coXn-bnÂ Is­-¯pI

[a] A AØn irJe, B tIm¢n-b, C HmhÂ

   hn³tUm, D IÀW-]Sw

2
SUBJECTS : PCMB VERSION CODE : A

IÀW-\mfw   B

 

A

C D {ih-W-\mUn

Earcanal   B

 

A

C D Auditory
nerve



[b] A tIm¢nb, B AØn irJe C IÀW-]Sw

     D HmhÂ hn³tUm

[c] A IÀ®]-Sw, B tIm¢n-b, C AØn-irw-J-e,

      D HmhÂ hn³tUm

[d] A tIm¢n-b, B AØn irJe, C HmhÂ

   hn³tUm, D IÀW-]Sw

[e] A IÀW-]-Sw, B AØn-irw-J-e, C HmhÂ
   hn³tUm, D tIm¢nb

5. ]cn-Wm-a-hp-ambn _Ô-s¸«v icn-bmb {]kvXm-

h\ GsX¶v Is­-¯pI

[a] temdn-kv, skÀt¡m-]n-¯n-t¡mbvsU F¶

hn`m-K-¯nÂ DÄs¸-Sp-¶p.

[b] a\p-jy\pw HdmMv D«m\pw thÀ]n-cn-ª-Xv-

G-Xm­v 70 e£w hÀjw ap¼v Pohn¨ Hcp
s]mXp ]qÀhn-I-\nÂ \n¶m-Wv.

[c] _mIvSn-b³ H«-I-¯n\v ssiXys¯ AXn-

Po-hn-¡m-\pÅ A\p-Iq-e-\-§Ä D­v.

[d] s{]mko-an-b³knsâ s]mXp kz`m-h-amWv

Iq«mb PohnXw

[e] KnºWn sâ Hcp ]qÀÆn-I-\mWv ÌntKm-tUm¬

6. Xmsg ]d-bp-¶-h-bnÂ GXv LS-I-amWv km[m-

cWbmbn t¥ma-dp-emÀ^nÂt{S-änÂ D­m-Im-\n-
S-bn-Ãm-¯-Xv.

[a] bqdnIv BknUv [b]b] amwkyw

[c] tkmUnbw t¢mssdUv [d] bqdnb

[e] {Intb-än-\n³

[b] A chochlea, B earossicle C eardrum,

     D ovalwindow

[c]  A eardrum, B chochlea, C earossicle,

     D ovalwindow

[d] A chochlea, B earossicle, C ovalwindow,

     D eardrum

[e] A eardrum, B earossicle, C ovalwindow,

     D chochlea

5. Choose the correct statement in relation with

evolution

[a] Loris is included under cercopithecoidea

[b] man and lemer separated from an common

      ancestor who leaved seventy lakhs year ago

[c] bactian camel has adaptations to give in

     extreme cold conditions

[d] prosimians shows social life

[e] Stegedon is ancestor of gibbon

6. Which of the following one is not usually
found in glomerularfiltrate

[a] Uric acid [b] Protein

[c] Sodium chloride [d] urea

[e] Creatinin
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OR

Arrange the following items in two groups.

Sieve tube, companion cell, trachieds, translocation of food, ascent of sap, vessels

[a] Group I- Sieve tube, companion cell, ascent of sap

Group-II –Tachieds vessels , translocation of food

[b] Group – I – Sieve tube, vessels, translocation of food

Group-II-Trachieds, companion cell, ascent of sap

[c] Group – I, Sieve tube, trachieds, translocation of food

Group-II – Vessels, companion cell, ascent of sap

[d] Group –I- Sieve tube, vessels, ascent of sap

Group – II – Trachieds, companion cell, Translocation of food

    [e] Group – I, Sieve tube, companion cell, translocation of food

Group – II, Trachieds, vessels, ascent of sap



7. M atch the column A with column B

     A        B
1. Ratfever - P Culex
2. Malaria - Q Aedis
3. Filariasis - R Leptospira
4. Chikungunya - S Anophelos

[a] 1-P 2-S 3-Q 4-R      [b] 1-R 2-P 3-S 4-Q

[c] 1-R 2-S 3-P 4-Q      [d] 1-Q 2-P 3-S 4-R

[e] 1-R 2-Q 3-S 4-P

8. Select the wrong statement about Darwin’s

theory

[a] Organisms with unfavourable variations gets

[b] Competitions between organisms for

eliminated resources are considered as struggle

for existence

[c] Use or dis use of organ depending on living

conditions changes in structure of organ

[d] organisms with favourable variation get

survives

[e] All are incorrect

9. Observe the picture and choose the correct

answer

[a] Afferent and efferent vessel with different size

[b] It helps in formation of glomerular filtrate

     in normal amount

7. tImfw A bnÂ \ÂIn-bn-cn-¡p-¶h tImfw B

bpambn A\p-tbm-Py-amb coXn-bnÂ tNcpw-]Sn
tNÀ¡p-I.

       A            B
1. Fen-¸\n þ P IyqeIvkv
2. ae-¼\n þ Q CuUnkv
3. a´v þ R se]vtämkvss]d
4. Nn¡p³Kp-\nb þ S At\m-̂ n-ekv

[a] 1-P 2-S 3-Q 4-R      [b] 1-R 2-P 3-S 4-Q

[c] 1-R 2-S 3-P 4-Q      [d] 1-Q 2-P 3-S 4-R

[e] 1-R 2-Q 3-S 4-P

8. UmÀhnsâ kn²m-´-¯nsâ hni-Zo-I-c-W-§-

fnÂ sXämb hni-Zo-I-cWw GXv?

[a] A\p-Iq-e-a-Ãm¯ hyXn-bm-\-§Ä DÅh

\in¨p t]mIp-¶p.

[b] ]cn-an-X-amb hn`-h-§Ä¡mbn Pohn-IÄ

X½n-epÅ aÕ-c-amWv \ne \nÂ]n-\m-bpÅ

aÕ-cw.

[c] PohnX kml-N-cy-a-\p-k-cn¨v Ah-b-h-§-

fpsS D]-tbm-Khpw \ncp-]-tbm-Khpw Ah-bh

LS\bnÂ amä-ap-­m-¡p-¶p.

[d] A\p-Iq-e-amb hyXn-bm-\-ap-Åh AXn-Po-hn-¡p-¶p.

[e] Ch-sbÃmw sXämWv

9. Nn{Xw \nco-£n¨v icn-bmb {]kvXm-h\ sXc-

sª-Sp-¡p-I.

[a] A^-câ v shkÂ, C^-câ v shkÂ F¶n-

hbv¡v hyXykvX hep¸w

[b] CXv icn -bmb Af-hnÂ t¥ma -dp -

emÀ^nÂt{Säv DÂ]m-Zn-̧ n-¡m³ klm-bn-¡p-¶p.
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[c] s\t{^m-Wnsâ {]hÀ¯\w kpK-a-ambn \S-

¡p-¶p.

[d] AXn-kq£va Acn-¡Â {]{Inb XI-cm-dn-

em-Ip-¶p. [e] Ch-sbm-¶p-aÃ

10. Nn{X§fp-ambn _Ô-s¸« e£-W-§Ä NphsS

tNÀ¯n-cn-¡p-¶p. tcmKw GsX¶v Is­-¯pI

I. ià-amb ]\n, ae-_-Ôw, DZ-c-th-Z\
II. Iªn-shÅw t]mse-bpÅ aew
III. I^-¯nÂ càw, s\©p-th-Z-\, ]\n
IV. hnd-b-tem-Sp-Iq-sS-bpÅ ]\n, tcmK-_m-[-bp-
Ån-S¯v thZ\, Nph¸v \ndw

[a] I.ssSt^mbvUv, II.a´v, III.tImf-d,IV.£bw

[b] I.a v́, II.tImfd, III.£bw,IV.ssSt^mbvUv

[c] I.£bw, II.tImfd, III.ssSt^mbvUv,IV.a´v

[d]I.ssSt^mbvUv,II.tImfd, III.£bw,IV.a´v

[e] I.tImfd, II.£bw, III.ssSt^mbvUv,IV.a´v

11. DNA X·m-{X-Ifpambn _Ô-s¸« icn-bmb

{]kvXm-h\ GXv?

[a] G-A                    [b] bpdm-kn³ ImW-s¸-Sp-¶p.

[c] c­v Cg-IÄ D­v [d] C-T

[e] ssdt_mkv ]©-kmc ImW-s¸-Sp-¶p.

12. c­v hyXykvX KpW-§-fpÅ Pohn-IÄ X½nÂ

hÀKk¦-cWw Nn{Xo-I-cn-¨n-cn-¡p-¶p.

[c] nephron functions normally

[d] disrupts the micro filtration

[e] None of these

10. some symptoms of disease and choose correct

answer

I. Severe fever, abdominal pain, constipation

II. Rice water like stool

III. Blood-tinged sputum, chest pain, fever

IV. Fever accompanied by chill, pain and

     reddishness in affected areas

[a] I.Typhoid, II.Filariasis,

III.Cholera, IV.Tuberculosis

[b] I.Filariasis, II.Cholera

III.Tuberculosis, IV.Typhoid

[c] I.Tuberculosis, II.Cholera,

III.Typhoid, IV.Filariasis

[d] I.Typhoid, II.Cholera,

III.Tuberculosis, IV.Filariasis

[e] I.Cholera, II.Tuberculosis,

III.Typhoid, IV.Filariasis

11. Choose the right statement related with DNA

molecule

[a] G-A      [b] Uracil is present

[c] Has two strands      [d] C-T

[e] Has ribose sugar

12. Hybridisation between two organisms with

different characters are given below
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BB RR bb rr

Bb RrF
1

BR br

B- {_u¬ icocw

b- Idp¸v icocw

R- Nph v̧ I®v

r- {_u¬ I®v

BB RR bb rr

Bb RrF
1

BR br

B- Brown body

b- Black body

R- Red eye

r- Brown eye



Number of organisms with brown eye in F2

generation is

[a] 1 [b] 2 [c] 3 [d] 4 [e] 9

13. Which of the following statement is correct about

Dryopithecus

[a] Common ancestor of man and chimpanzee

[b] Fossils discovered from afar regions of

     ethiopia

[c] Has practical knowledge of using weapons

[d] Considered to have lived 3-3.2 millions years

ago

[e] Considered to have lived 1.8  millions years

ago

14. Analyse the given concept map and complete

A,B,C,D

[a]

[b]

[c]

[d]

[e]

F2 Xe-ap-d-bnÂ {_u¬ I®p-I-fpÅ F{X
Pohn-IÄ D­m-Im-\mWv km[y-X.

[a] 1 [b] 2 [c] 3 [d] 4 [e] 9

13. Xmsg sImSp-¯n-cn-¡p¶hbnÂ {Utbm ]n¯-

¡-kp-ambn _Ô-s¸« {]kvXm-h\ GXv ?

[a] BÄIp-c-§p-I-fp-sSbpw a\p-jy-sâbpw

s]mXp-]qÀhn-I³

[b] FtXym-]y-bnse A^mÀ {]tZ-i-¯p-\n¶pw

t^mknÂ Is­-Sp-¯p.

[c] Bbp-[-§Ä D]-tbm-Kn-¡m³ {]mtbm-KnI

]cn-Úm\w

[d] 3-3.2 Zi-e£w sImÃw ap¼v Pohn-¨n-cp-¶p.

[e] 1.8 Zi-e£w hÀjw ap¼v Pohn-¨n-cp-¶p.

14. tlmÀtam-Wp-IfpsS {]hÀ¯-\-hp-ambn _Ô-

s¸« Bib Nn{Xo-I-cWw hni-I-e\w sNbvXv
A,B,C,D F¶nh ]qÀ¯n-bm-¡p-I.

[a]

[b]

[c]

[d]

[e]
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A-C³ln-_n-ädn
tlmÀam¬

B-]näyq-ä-dn-bpsS
ap³Zfw

C-ACTH, D-ssXtdmIvkn³

A-dneo-knwKv
tlmÀam¬

B-]näyq-ä-dn-bpsS
ap³Zfw

C-ACTH, D-ssXtdmIvkn³

A-dneo-knwKv
tlmÀam¬

B-]näyq-ä-dn-bpsS
]n³Zfw

C-TSH, D-ssXtdmIvkn³









B

C

ssXtdmbvUv
{KÔn

D
DXv]m-Zn-¸n-¡p¶p

ssl-t¸m-X-em-akv
A {khn-¡p-¶p.

A-inhibitory
hormone

C-ACTH, D-ThyroxineB-Anterior lobe
of pituitary

A-releasing
hormone

C-ACTH, D-ThyroxineB-Anterior lobe
of pituitary

A-releasing
hormone

C-TSH, D-ThyroxineB-Posterior lobe
of pituitary

A
............

Produces
D

............

Hypothalamus secretes









B

C

Thyroid
gland

A-releasing
hormone

C-TSH, D-ThyroxineB-Anterior lobe
of pituitary

A-releasing
hormone

C-TSH, D-CalcitonilB-Posterior lobe
of pituitary A-dneo-knwKv

tlmÀam¬
B-]näyq-ä-dn-bpsS

]n³Zfw
C-TSH, D-ImÂkn-tSmWn³

A-dneo-knwKv
tlmÀam¬

B-]näyq-ä-dn-bpsS
ap³Zfw

C-TSH, D-ssXtdmIvkn³



15. NphsS \ÂIn-bn-cn-¡p¶ {]kvXm-h-\-I-fnÂ

icn-bm-bXv GXv.

[a] Pohn-I-fnse P\n-XI hkvXp DNA bmW¶v

1943 Â Pbnwkv hmSvk¬, {^m³kn-kv{In¡v

F¶n-hÀ Is­-¯n.

[b] 1963 Â kndnÄ s]m¶w s]cpa AssP-hnI

X·m-{X-I-fnÂ \n¶v AUn-t\m-kn³ X·m-{X-IÄ

\nÀan-¨p.

[c] tUm.-B-\µv taml³ N{I-hÀ¯n P\n-XI

F©n-\o-b-dnw-Knsâ krjvSn-bmb Bt hgp-Xn\

DZv]m-Zn-¸n-¨p.

[d] 1909 Â P\n-X-I-tImUv sPmlm³k¬

Is­-¯n.

[e] -1905 Â t_ävk¬ \yq¢nIv BknUv Is­¯n

15. Choose the correct statement from the following

[a] In 1943 James watson and francis crick

identified DNA as genetic materials

[b] In 1963 Cyril ponnam peruma prepared

adenosine molecule from inorganic substances

[c] Anand Mohan Chakravarty created a

product of genetic engineering-Bt-cotton

[d] In 1909 Johannsen discovered genetic code

[e] In 1905 bateson discovered nucleic acid.
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Different generations of beetle population

1,2 and 3rd 4th, 5th and 6th 7th and 8th

Generation generation generation
Which of the followings support the above picture

a- Natural Selection b- Migration c- Genetic drift
d- Non-inheritance of acquired character e- Mutation

OR
Schematic representation of flow of blood

bHeart

lungs
Heart

d

c

a

[a] a-venacava, b-pulmonary vein , c-pulmonary artery d-aorta
[b] a-venacava, b-pulmonary artery, c-pulmonary vein d-aorta
[c] a-aorta, b-pulmonary vein, c-pulmonary artery d-venacava
[d] a-aorta, b-pulmonary artery c-pulmoary vein d-venacava
[e] a-pulmonary artery, b-venacava, c-aorta d-pulmonary vein



16. The functional group of ether is

[a] -OH [b] -COOH

[c] -O- [d] -CO

[e] -CHO

17. .......is responsible for acidic properties of acids

[a] H+ [b] H

[c] OH [d] OH-

 [e] H-

18. The sodium compound used in kitchen in

making food

[a] Sodium Carbonate

[b] Sodium Hydroxide

[c] Sodium bicarbonate

[d] Sodium Oxide

[e] Sodium peroxide

19. Arrange the part of reactivity series in the

correct order

[a] Na,K,Mg,Cu

[b] K,Na,Cu,Mg

[c] K,Na,Mg,Cu

[d] Cu,Mg,K,Na

[e] Mg,K,Cu,Na

20. Fullerene is an allotrope of carbon which

consists of............carbon atoms

[a] 4 [b] 6 [c] 40 [d] 60 [e] 8

or

Find the number of moles in 34 gms of Ammonia

(NH
3
) (At Wt. N=14, H=1)

[a] 1 mol [b] 6 mols

[c] 4 mols [d] 2 mols

[e] 3 mols

16. CuY-dnsâ ^Mvj-WÂ {Kq¸v

[a] -OH [b] -COOH

[c] -O- [d] -CO

[e] -CHO

17. Bkn-Unse BknUv KpW-¯n\v Imc-W-amb

LSIw

[a] H+   [b] H   [c] OH

[d] OH-     [e] H-

18. `£-W-ap-­m-¡p-t¼mÄ ASp-¡-f-bnÂ D]-tbm-

Kn-¡p¶ tkmUnbw kwbpàw

[a] tkmUnbw ImÀ_-tWäv

[b] tkmUnbw sslt{Um-IvsskUv

[c] tkmUnbw ss_ ImÀ_-tWäv

[d] tkmUnbw HmIvsskUv

[e] tkmUnbw s]tdm-IvsskUv

19. dnbm-Ivän-hnän koco-knse Hcp `mK-amWv Xmsg

sImSp-̄ n-cn-¡p-¶-Xv. icn-bm-bXv I­p-]n-Sn-¡pI

[a] Na,K,Mg,Cu

[b] K,Na,Cu,Mg

[c] K,Na,Mg,Cu

[d] Cu,Mg,K,Na

[e] Mg,K,Cu,Na

20. ImÀ_Wnsâ Hcp cq]m-´-c-amWv ^pÅ-dn³.

CXnÂ F{X ImÀ_¬ Bä-§Ä AS-§n-bn-«p-
­v.

[a] 4 [b] 6 [c] 40 [d] 60 [e] 8

or

34 {Kmw Atam-Wn-b-bnÂ (NH
3
) (At Wt. N=14,

H=1) F{X tamÄ D­v ?

[a] 1 mol        [b] 6 mols [c] 4 mols

[d] 2 mols      [e] 3mols
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21. CuO and H
2
, on heating reacts to form Cu and

H
2
O. Here the reducing agent is....

[a] Cu [b] H
2

[c] CuO [d] H
2
O [e] O

or

2H
2
+O

2
 2H

2
O. The amount of hydrogen

combines with 16 gm of Oxygen is

[a] 1 [b] 2 [c] 3 [d] 4 [e] 5

22. The substance added in cement during its

manufacture, which helps to setting of is...

[a] Plaster of Paris      [b] Gypsum

[c] Lime     [d] Coke       [e] Sand

or

Tooth decay starts when the pH of the mouth is...

[a] greater than 5.5 [b] less than 5.5

[c] greater than 7 [d] less than 7

[e] greater than 8

23. Which of the following substance is used for

treating indigestion

[a] Antibiotic [b] Analgesic

[c] Antacid [d] Anticeptic

[e] Hypnotic

24. The reaction between an Organic acid and

alcohol is

[a] Saponification [b] Esterification

[c] Neutralisation [d] Denaturing

[e] None

25. The outermost electronic configuration of an

element is 3S23P2. it belongs to following group

in periodictable

[a] 4 [b] 2 [c] 12

[d] 14 [e] 6

21. CuO Dw H
2
, hpw tNÀ¯v NqSm-¡p-t¼mÄ Cu Dw

H
2
O bpw e`n¡p-¶p. C-XnÂ \ntcm-Ivko-Imcn GXv?

[a] Cu [b] H
2

[c] CuO [d] H
2
O [e] O

or

2H
2
+O

2
 2H

2
O.     16gm HmIvkn-P-\p-ambn

IqSn-t¨-cp¶ ssl{U-Psâ Af-sh{X?

[a] 1 [b] 2 [c] 3 [d] 4 [e] 5

22. knsaâ v skänwKv kabw \nb-{´n-¡m³

knsaâ v \nÀ½mW thf-bnÂ tNÀ¡p¶

kwbpàw

[a] ¹mÌÀ Hm^v ]mcokv  [b] Pn]vkw

[c] ssew       [d] tIm¡v   [e] aWÂ

or

hmb-bnse pH aqeyw...........-B-Ip-t¼mÄ ]Ãp-IÄ

{Zhn-¡m³ XpS-§p¶p.

[a] 5.5 Â IqSp-XÂ [b]  5.5 Â Ipdhv

[c] 7 Â IqSp-XÂ [d] 7 Â Ipdhv

[e] 8 Â IqSp-XÂ

23. Zl-\-¡p-dhn\v D]-tbm-Kn-¡p¶ Huj[w

[a] Bân-_-tbm-«nIv    [b] A\mÄsP-knIv

[c] Aâm-knUv        [d] Bân-sk-]vänIv

[e] ln]vt\m-«nIv

24. HmÀKm-\nIv BknUpw BÂ¡-tlmfpw tNcp¶

cmk-{]-hÀ¯-\-amWv

[a] kt]m-Wn-̂ n-t¡-j³   [b] FÌ-dn-̂ n-t¡-j³

[c] \yq{S-sse-tk-j³       [d] Uo\m-Nz-dnwKv

[e] Ch-sbm-¶p-aÃ

25. _mly-X-a -sjÂ Ce-Ivt{Sm¬ hn\ymkw

3S23P2 Bb aqeIw BhÀ¯-\-]-«n-I-bnÂ

Xmsg ]d-bp¶ {Kq¸n-emWv DÄs¸-«n-cn-¡p-¶-Xv.

[a] 4 [b] 2 [c] 12

[d] 14 [e] 6
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or

Anodisation is the process of making a layer of

the metal oxide on the metal

[a] Copper [b] Iron

[c] Zinc [d] Aluminium

[e] Magnesium

26. Across a period in Modern periodic table the

trend of metallic character

[a] First increases then decreases

[b] First decreases then increases

[c] Increase

[d] Decrease [e] Cannot be predicated

27. An Essential element which is present in alloy

amalgam is

[a] Mg [b] Hg [c] Fe

[d] Al [e] Zn

or

Ionisation energies of 4 elements are given

below. Find out the noble gas from these

[a] 2012 Kj/mol [b] 2321 Kj/mol

[c] 1254 Kj/mol [d] 678 Kj/mol

[e] 876 Kj/mol

28. The word Triad is associated with the scientist

[a] Mendeleef [b] John Newland

[c] Doberreiner [d] Mosely

[e] Dalton

or

When methane is allowed to react with Chlorine

in the presence of sunlight. The final product

is...

or

GXv teml-¯nsâ apI-fnÂ AXnsâ Xs¶

HmIvsskUv Bh-cWw \nÀ½n-¡p¶ {]hÀ¯-

\-amWv Bt\m-ssU-tk-j³

[a] sN¼v [b] Ccp¼v

[c] kn¦v [d] Aep-an-\nbw

[e] aáojyw

26. B[p-\nI BhÀ¯-\-̧ -«n-I-bnÂ, Hcp ]ocn-b-

Un\p IpdpsI temlob kz`mhw F§ns\

amdp-¶p.

[a] BZyw IqSp-¶p, ]ns¶ Ipd-bp¶p

[b] BZyw Ipd-bp-¶p, ]ns¶ IqSp-¶p.

[c] IqSp-¶p. [d] Ipd-bp-¶p.

[e] {]h-N-\m-XoXw

27. AamÂKw F¶ teml k¦-c-¯nse Hgn-¨p-Iq-

Sm-\m-Im¯ aqe-IamWv

[a] Mg [b] Hg [c] Fe

[d] Al [e] Zn

or

4 aqe-I-§-fpsS Atbm-Wo-I-cW DuÀÖw

X¶n-cn-¡p¶p. CXnÂ DÂIr-jvS-hm-XIw GXv.

[a] 2012 Kj/mol [b] 2321 Kj/mol

[c] 1254 Kj/mol [d] 678 Kj/mol

[e] 876 Kj/mol

28. GXv imkv{X-Ú-\p-ambn _Ô-s¸« t]cmWv
{SbmUv (Triad)

[a] saâ-en-tb^v [b] tPm¬ \yqemâ v

[c] tUm_-ssd-\À [d] tamkven

[e] UmÂ«³

or

aosYbv³ kqcy-{]-Im-i-̄ nsâ km¶n-²y-̄ nÂ

t¢mdn-\p-ambn {]hÀ¯n-¡pt¼mÄ e`n-¡p¶

Ah-km\ DXv]¶w
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[a] CHCl
3
           [b] CH

2
Cl

2
      [c] CCl

4

[d] CH
3
Cl           [e] All except C

29. When an iron nail is dipped in Copper Suphate

Solution, Iron nail changes to Copper nail. The

reaction is called

[a] Combination [b] Displacement

[c] Decomposition [d] Dissociation

[e] All

30. ...........are salt of sulphonic acids

[a] Soap [b] Detergent
                 

[c] ester

[d] alcohol [e] Phenol

or

Bleaching powder is prepared by the action of

Chlorine on......

[a] Wet Slaked lime

[b] Dry slaked lime

[c] Lime [d] Dry alcohol

[e] None of the above

31. Which one is not the unit of energy ?

[a] Joule [b] Calorie

[c] erg [d] kwh

[e] watt/sec

[a] CHCl
3
           [b] CH

2
Cl

2
      [c] CCl

4

[d] CH
3
Cl           [e] C HgnsI _m¡n FÃmw

29. Ccp-¼mWn tIm¸À kÄt^äv emb-\n-bnÂ

ap¡n-sh-¨mÂ AXv sN¼m-Wn-bmbn amdp-¶p.

Cu {]hÀ¯\w F´p-t]-cnÂ Adn-b-s¸-Sp-¶p.

[a] kwtbm-P\w (Combination)

[b] BtZiw (Displacement)

[c] hnL-S\w (Decomposition)

[d] Untkm-kn-tb-j³        [e] FÃmw

30. Ch kÄt^m-WnIv BknUv eh-WamWv

[a] tkm¸v [b] UnäÀsPâ v
      

[c] FÌÀ

[d] BÄ¡-tlmÄ [e] ^ot\mÄ

or

t¢mdnsâ IqsS.........tNÀ¯mWv »o¨nwKv

]uUÀ \nÀ½n-¡p-¶-Xv.

[a] CuÀ¸-apÅ tÉ¡Uvssew

[b] CuÀ¸-c-lnX tÉ¡Uvssew

[c] ssew      [d] CuÀ¸-c-lnX BÂ¡-tlmÄ

[e] Ch-sbm-¶p-a-Ã.

31. Xmsg sImSp-̄ n-cn-¡p-¶-h-bnÂ DuÀÖ-̄ nsâ

bqWnäv (G-IIw) AÃm-¯-tXXv?

[a] PqÄ [b] Itemdn

[c] FÀKv [d] Intem-hm«v luhÀ

[e] hm«v/sk¡â v
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32. The scientist who proposed the big bang theory

regarding the origin of universe was

[a] Galileo [b] Copurnicus

[c] Archimedes [d] Hubble

[e] Halley

33. Halleys comet appears after every

[a] 66 years [b] 70 years

[c] 72 years [d] 76 years

[e] 79 years

34. 1 Amp=

[a] 
1

1

Coulomb

Sec
[b] 

1

1sec

Watt

[c] 
1

1

Sec

Coulomb
[d] 

1

1

Volt

Coulomb

[e] 
1

1

Coulomb

Volt

35. The renewable source of energy is

[a] coal [b] petrolium

[c] Natural gas [d] wind

[e] Diesel

36. Solar cell is made up of

32. {]]-t©m-Xv]-¯n-sb-¡p-dn-¨pÅ _nKv_m§v

Xnb-dn-bpsS D]-Úm-Xm-hv.

[a] Keo-entbm [b] tIm¸À\n-¡kv

[c] BÀ¡n-an-Uokv [d] l_nÄ

[e] lmen

33. lmen-bpsS hmÂ \£{Xw F{X hÀjw IqSp-

t¼m-gmWv `qan-bpsS kao-]-s¯-¯p-¶Xv

[a] 66 hÀjw [b] 70 hÀjw

[c] 72 hÀjw [d] 76 hÀjw

[e] 79 hÀjw

34. 1 Bw_n-bÀ =

[a]   1 Iqtfmw [b]  1 hm«v-

      1 sk¡â     1 sk¡â vv

[c]  1 sk¡â v [d] 1 thmÄ«v

       1 Iqtfmw     1 Iqtfmw

[e]  1 Iqtfmw

      1 thmÄ«v

35. Xmsg ]d-bp¶hbnÂ ]p\-Øm-]n-¡m³ Ign-
bp-¶- DuÀÖ t{kmXÊv GXv ?

[a] IÂ¡cn [b] s]t{Sm-fnbw

[c] Kymkv [d] Imäv

[e] UokÂ

36. tkmfmÀ skÂ \nÀ½n--¡m-\p-]-tbm-Kn-¡p¶
hkvXp

12
SUBJECTS : PCMB VERSION CODE : A

Space for rough work ...



[a] Silicon [b] Iron

[c] copper [d] Aluminium

[e] Steel

37. Which of the light undergo least scattering

[a] Indigo [b] Green

[c] yellow [d] Blue

[e] Violet

38. ‘A Brief History’ of time was written by

[a] Einstein [b] Stephen Hawkins

[c] Newton [d] Galileo

[e] C.V. Raman

39. Fuse wire is made up of

[a] Tungsten [b] Tin & lead

[c] Aluminium [d] copper

[e] tin

40. The device which convert AC to DC is

[a] Rectifier [b] Amplifier

[c] Modulator [d] Capacitor

[e] diode

41. Charge of an electron is

[a] knen-¡¬ [b] Ccp¼v

[c] tIm¸À [d] Aep-an-\nbw

[e] ÌoÂ

37. Xmsg ]d-bp¶ {]Imi hÀ®-§-fnÂ Gähpw

Ipdª hnk-cWw kw`-hn-¡p-¶Xv GXn\v?

[a] C³UntKm [b] ]¨

[c] aª [d] \oe

[e] hbeäv

38. ‘A Brief History of time’Bsc-gp-Xnb ]pkvX-I-

am-Wv.

[a] sF³Ìo³ [b] Ìo^³ tlm¡nwKvkv

[c] \yq«¬ [d] Keo-entbm

[e] kn.-hn. cma³

39. ^yqkv hbÀ \nÀ½n-¨n-cn-¡p-¶Xv

[a] SMvÌ¬ [b] Sn\pw seUpw

[c] Aep-an-\nbw [d] tIm¸À

[e] Sn³

40. AC sb DC B¡n amäp¶ D]-I-cWw

[a] sdIvSn-^-bÀ [b] Bw»n-^-bÀ

[c] tamUpte-äÀ [d] I¸m-kn-äÀ

[e] UtbmUv

41. Hcp Ce-Ivt{Sm-Wnsâ NmÀÖv
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[a] 1.6x10-21C [b] 1.4x10-19C

[c] 1.6x10-18C [d] 1.6x10-19C

[e] 1.6x10-17C

   Xmsg sImSp-̄ n-cn-¡p¶ kÀIyq«v ]cn-tim-[n v̈ X¶n-

«pÅ tNmZy-§Ä¡v D¯-c-sa-gp-Xp-I.(42-þ44)

42. kÀIyq-«nse A½o-ä-dnse doUnwKv F´m-Wv.

[a] 0.5A [b] 1A

[c] 2A [d] 1.5A

[e] 3A

43. kÀIyq -«nse thmÄ«v aoä -dnse doUnwKv

F´mWv ?

[a] 5v  [b] 1v [c] 3v [d] 2v [e] 0.5v

44. kÀIyq-«nse k^e {]Xn-tcm[w F{X?

[a] 1Hmw [b] 7Hmw

[c] 5Hmw [d] 4Hmw [e] 3Hmw

[a] 1.6x10-21C [b] 1.4x10-19C

[c] 1.6x10-18C [d] 1.6x10-19C

[e] 1.6x10-17C

      Answer the following questions according to

given diagram (From 42-44)

42. Calculate the Reading of ammeter

[a] 0.5A [b] 1A

[c] 2A [d] 1.5A

[e] 3A

43. What will be the Reading of Voltmeter

[a] 5v  [b] 1v [c] 3v [d] 2v [e] 0.5v

44. What is the total resistance of  the circuit ?

[a] 1  [b] 7 [c] 5

[d] 4 [e] 3
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45. tNcpw-]Sn tNÀ¡pI

a) ]mkv¡Â -p) Iqtfmw/sk¡â v

b) \yq«¬ -q) 1/aoäÀ

c) B¼n-bÀ -r) \yq«¬/aoäÀ2

d) Utbm-]väÀ -s) In.{Kmw aoäÀ/sk¡â v2

[a] a-s, b-r,   c-q, d-p

[b] a-r, b-s, c-p, d-q

[c] a-q, b-s, c-p, d-r

[d] a-r, b-q, c-s, d-q

[e] a-p, b-q, c-r, d-s

46. Hcp kam-´c t{iWn-bpsS BZys¯ 9 ]Z-§-
fpsS XpI 36 Dw AXnsâ 7þmw ]Zw 2Dw
BbmÂ B t{iWn-bpsS BZys¯ 17 ]Z-§-
fpsS XpI

[a] 34 [b] 0 [c] 18 [d] 102     [e] 38

47. 3x x   BbmÂ x sâ hneþ

[a] 1 \pw 2 \pw CS-bnÂ

[b] 0 ¯n\pw 3 \pw CS-bnÂ

[c] 2\pw 3 \pw CS-bnÂ

[d] --- -1 \pw 0 ¯n\pw CS-bnÂ

[e] -2 \pw -1 \pw CS-bnÂ

48. ka-`pP kmam -´-coIw ABCD bpsS

hnkvXoÀ®w 120cm2 AXnsâ hnIÀ®-§Ä

O bnÂ Iq«n-ap-«p-¶p. hnIÀ®w AC bpsS \ofw

45. Match the following:

a) Pascal - p)
sec

coulomb

ond

b) Newton - q)
1

meter

c) Ampere - r)  N/m2

d) Diopter - s) Kgm/s2

[a] a-s, b-r, c-q, d-p

[b] a-r, b-s, c-p, d-q

[c] a-q, b-s, c-p, d-r

[d] a-r, b-q, c-s, d-q

[e] a-p, b-q, c-r, d-s

46. If the sum of first 9 terms of an A.P is 36 and its

7th term is 2, then the sum of its first 17 terms is:

[a] 34 [b] 0 [c] 18 [d] 102 [e] 38

47. If 3x x   then the value of x  is:

[a] Between 1 and 2

[b] Between 0 and 3

[c] Between 2 and 3

[d] Between -1 and 0

[e] Between -2 and -1

48. Rhombus ABCD has an area of 120cm2 Its

diagonals meet at 0. If the length of the diagonal
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24 cm BbmÂ OCD�  bpsS ]cn-hr-¯-

¯nsâ hnkvXoÀ®w

[a] 576 cm2 [b] 100 cm2

[c] 
2169

4
cm


[d] 676 cm2

[e] 
2144

5
cm



49. 2 0ax bx c    F¶ ka-hm-Iy-¯nsâ aqey-

§Ä p bpw q Dw BWv. F¶mÂ 2pbpw 2qDw

aqey-§-fpÅ ka-hm-Iyw.

[a] 22 2 2 0ax bx c  

[b] 24 4 4 0ax bx c  

[c] 2 2 2 0ax bx c  

[d] 2 2 4 0ax bx c  

[e] 2 4 4 0ax bx c  

50. Hcp {Kq¸nse 10 Bfp-I-fpsS icm-icn amÀ¡v
18. 15 amÀ¡pÅ Hcp Ip«n {Kq¸v hn«p-t]m-bn.
]Icw HcmÄ {Kq¸nÂ tNÀ¶t¸mÄ icm-icn
amÀ¡v 19 Bbn. F¶mÂ ]pXp-Xmbn tNÀ¶
Bfnsâ amÀ¡v.

[a] 18 [b] 33 [c] 34 [d] 37 [e] 25

51. � ABC F¶ ka-`pP {XntIm-W-¯nÂ A (4,5)  Dw

and B (4,-5) Dw BWv. F¶mÂ C BIm-hp-¶Xv

[a] (4,5 3) [b] ( 4, 5 3) 

[c] (4 5 3,0) [d] (4,0)

[e] (5 3,0)

AC is 24 cm then the area of the circum circle

of OCD� is:

[a] 576 cm2 [b] 100 cm2

[c] 
2169

4
cm


[d] 676 cm2

[e] 
2144

5
cm



49. If the roots of the equation 2 0ax bx c    are

p and q. Then the equation which has roots 2p

and 2q will be:

[a] 22 2 2 0ax bx c  

[b] 24 4 4 0ax bx c  

[c] 2 2 2 0ax bx c  

[d] 2 2 4 0ax bx c  

[e] 2 4 4 0ax bx c  

50. The avarage score of a group of 10 students is

18. A student who has a score15 left the group.

When a student joined the group to substitute

the vaccancy the average becomes 19. Then the

score of the newly joined student is:

[a] 18 [b] 33 [c] 34 [d] 37 [e] 25

51. The � ABC is an equilateral triangle with AA

(4,5) and B (4,-5), then the vertex of C is

[a] (4,5 3) [b] ( 4, 5 3) 

[c] (4 5 3,0) [d] (4,0)

[e] (5 3,0)
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52. sin cos a   b p w
sin cos

sin cos
b

 

 


 b p w

F¦nÂ

[a] 2

2

1

a
b

a



[b] 2

2

1

b
a

b




[c] 2: 1ab b  [d] 1a b 

[e] a b 

53. 2sin (1 sin 2 )x x   (1 sin 2 )x  F¶mÂ x =

[a] 600 [b] 450    [c] 900     [d] 150        [e] 300

54. Hcp hr¯ kvXq]n -I -bpsS A{K-apJ
hnkvXoÀ®hpw h{I-Xe hnkvXoÀ®hpw 3:5
F¶ Awi-_-Ô-¯n-em-Wv. F¶mÂ AXnsâ
hym]vX-s¯bpw D]-cn-Xe hnkvXoÀ®-s¯bpw
kqNn-¸n-¡p¶ kwJy-IÄ X½n-epÅ Awi-
_Ôw

[a] 1:2 [b] 4:5

[c] 5:4               [d] 2:1 [e] 3:4

55. Hcp hr¯-kvXw-`-¯nsâ (cylinder) hymkw

(diameter) r -BWv. IqSmsX CXnsâ Dbcw Bc-

¯n\v Xpey-amWv F¦nÂ CXnsâ hym]vXw.......-
B-bn-cn¡pw

     [a] 
3

8

r
   [b] 3r   [c] 32 r    [d] 34 r   [e]

3

4

r

56. 2x    2x  sâ hne FÃm-bvt¸mgpw

52. If sin cos a    and 
sin cos

sin cos
b

 

 


  then

[a] 2

2

1

a
b

a



[b] 2

2

1

b
a

b




[c] 2: 1ab b  [d] 1a b 

[e] a b 

53. If 2sin (1 sin 2 )x x   (1 sin 2 )x then x =

[a] 600 [b] 450 [c] 900 [d] 150 [e] 300

54. The base area and lateral surface area of a cone

are in the ratio 3:5.Then the ratio of the numbers

represent its volume and total surface area are

in the ratio_

[a] 1:2 [b] 4:5

[c] 5:4 [d] 2:1 [e] 3:4

55. If the diameter of the base of right circulated

cylinder is r and its height is equal to the radius

of the base, then its volume is...

[a] 

3

8

r
[b] 3r   [c] 32 r  [d] 34 r     [e]

3

4

r

56. The value of 2x    2x   should be always
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[a] 0 [b] 2 (2 )x

[c]  2 2x  [d] 2 2x 

[e] 0 or 2 4x 

57.
   

2 2

1 3 1 3   

[a] 0 [b] 2 [c] -2

[d] 2 3 [e] 3

58. Hcp kam-´-c-t{i-Wn-bpsS 9þmw ]Zw 6. Cu

t{iWn-bpsS nþmw ]Zs¯ t
n
 F¶p kqNn-¸n-

¡p-¶p. F¶mÂ 7 11 153 t t tt    =

[a] 54 [b] 24 [c] 12

[d] 27 [e] 6

59. 2 0x bx x    F¶ ka-hm-Iy-¯n\v tcJob

kwJy-I-fmb aqey-§-fp­v, F¶mÂ

[a] 2b c   [b] 2b c

[c] 2b c [d] 2b c

[e] b c

60. Hcp ka-`pP {XntIm-W-¯n-sâbpw ka-N-Xp-c-
¯n-sâbpw hnkvXoÀ®-§Ä Xpey-am-Wv. ka-
`pP {XntIm-W-̄ nsâ hiw P bpw ka-N-Xp-c-
¯nsâ hiw q Dw BbmÂ p:q=

[a] 0 [b] 2 (2 )x

[c]  2 2x  [d] 2 2x 

[e] 0 or 2 4x 

57.
   

2 2

1 3 1 3   

[a] 0 [b] 2 [c] -2

[d] 2 3 [e] 3

58. The 9th term of an AP is 6. If  its nth term is

denoted by t
n
 then 7 11 153 t t tt    =

[a] 54 [b] 24 [c] 12

[d] 27 [e] 6

59. If 2 0x bx x   have real roots, then

[a] 2b c [b] 2b c

[c] 2b c [d] 2b c

[e] b c

60. The areas of an equilateral triangle and a square

are equal. The side of the equilateral triangle is

p and the side of the square is q. Then p:q=....
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[a] :2 3 [b] : 23

[c] 3 :1 [d] 1/ 42 : 3

[e] 2 : 3

61. Nn{X-¯nÂ C hr -̄tI-{µ-amWv. AD    CbneqsS
IS-¶p -t]m-Ip -¶p. AP=8cm AB:BD=1:3. -
F¶mÂ hr¯-¯nsâ Bcw

[a] 6cm [b] 4cm         [c] 8cm

[d] 10cm [e] 12cm

62. Nn{X-¯nÂ � ABC ka-`pP {XntIm-W-am-Wv.
D bpw E bpw AB bpsSbpw AC bpsSbpw a[y-
_n-µp-¡-fm-Wv. O DE bpsS a[y-_n-µp-hm-Wv.

� ABCbpsS hnkvXoÀ®w : � BDO bpsS
hnkvXoÀ®w

[a] :2 3 [b] : 23

[c] 3 :1 [d] 1/ 42 : 3

[e] 2 : 3

61. In the figure AP is a tangent to the circle and
the line AD passes through the centre of the
circle. AP=8cm   AB:BD=1:3. Then the radius
of the circle is

[a] 6cm [b] 4cm         [c] 8cm

[d] 10cm [e] 12cm

62. In the figure � ABC is an equilateral triangle.

D and E are the mid points of AB and AC. O is
the mid point of DE. The ratio of areas � ABC

and � BDO is:
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[a] 4:1 [b] 8:1

[c] 2:1 [d] 1:2

[e] 1:8

63. 2 0x bx k   has only one root then which

of the following is always true

[a] 2b K  [b] K b 

[c] 2b K [d] >K b

[e] 2K b

64.
1

8
part of 25%x  of 12.5%x   of  54 then

x  ...

[a] 24 [b] 36

[c] 18 [d] 12

[e] 30

65. The time taken to reach an ant from B to C is x
minute.If the speed doubles then also the time
taken to reach from A to C is same as x
minute.Then AB:BC

[a] 4:1 [b] 8:1

[c] 2:1 [d] 1:2

[e] 1:8

63. 2 0x bx k    F¶ ka-hm-Iy-¯n\v Hcp

aqeyw am{X-ta-bp-Åq. F¶mÂ FÃm-bvt¸mgpw
icn-bm-hp-¶Xv

[a] 2b K  [b] K b 

[c] 2b K [d] >K b

[e] 2K b

64. x sâ 
1

8
`mKw x sâ 25% = 54sâ 12.5%

F¶mÂ x  ...

[a] 24 [b] 36

[c] 18 [d] 12

[e] 30

65. Hcp Ddp¼v B bnÂ \n¶v C bnÂ F¯m³ x
an\n«v FSp¡pw. thKX Cc-«n-bm-¡n-bmÂ
AbnÂ \n¶pw C bnte¡v F¯-m\pw x an\n«v
Xs¶ aXn. F¶mÂ AB:BC

20
SUBJECTS : PCMB VERSION CODE : A

Space for rough work ...

A

C
B

90
0

A

C
B

90
0



[a] 1: 3 [b] 1: 2

[c] 1:1 [d] 3 :1

[e] 3:2

tNmZyw 66 sXm«v 72 hsc DÅ tNmZy-§Ä¡v:
{]kvXm-h\ 1 am{Xw icn-bm-sW-¦nÂ a
{]kvXm-h\ 3 am{Xw icn-bm-sW-¦nÂ b
{]kvXm-h\IÄ 1 Dw 2 Dw icn-bm-sW-¦nÂ c
{]kvXm-h\IÄ 1 Dw 2 Dw 3 Dw icn-bm-sW-¦nÂ d
{]kvXm-h\IÄ 1 Dw 2 Dw 3 Dw sXäm-sW-¦nÂ e
F¶pw amÀ¡v sN¿p-I.

66. 1. kZriy {XntIm-W-§-fnÂ kam\ tImWp-IÄ
  Xpey-am-Wv.

2. kam\ hi-§Ä kZriy {XntIm-W-§-fnÂ
   Xpey A\p-]m-X-¯n-em-bn-cn-¡pw.

3. kZr-iy-{Xn-tIm-W-§-fpsS hnkvXoÀ®-§Ä
   Ah-bpsS hi-§-fpsS A\p-]m-X-¯n-em-bn-
   cn-¡pw.

67. 1. Hcp kam-´c t{iWn-bpsS BZys¯ ‘n’
  ]Z-§fnse a[y-]Zw s\K-äohv BbmÂ Ah-
  bpsS XpI s\K-äohmbn-cn-¡pw.

2. BZys¯ ‘n’ ]Z-§fpsS XpI s\K-äohv
   BbmÂ FÃm ]Z-§fpw s\K-äohv Bbn-
   cn¡pw

3. BZy-]Zw s\K-äohpw ‘n’ ]Z-§-fpsS XpI
   s\K-äohpw BbmÂ ‘n’þmw ]Zhpw s\K-äohv
   Bbn-cn-¡pw.

68. 2 3x x    BbmÂ

1. ( 2)x   s\K-äo-hmWv

[a] 1: 3 [b] 1: 2

[c] 1:1 [d] 3 :1

[e] 3: 2

From Qn . 66 to 72
a: If statement 1 is only correct
b: if statement 3 is only correct
c: if statements1 and 2 are correct
d: if statements 1, 2, and 3 are correct
e: if statements 1,2, and 3 are wrong

66. 1. In similar triangles the corresponding angles
    are equal

2. Corresponding sides of the similar triangle
    are in the same ratio

3. Areas of the similar triangle are proportional
    to the sides.

67. 1. If the midterm of the given ‘n’ terms of an
    A.P is negative, the sum of the ‘n’ terms
    should be negative.

2. If the sum of ‘n’ terms is negative then its
    all terms should be negative

3. If the first term is negative and the sum of
   the first ‘n’ terms is negative and the nth

   terms should be negative.

68. If  2 3x x  

1. ( 2)x   is negative
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2. ( 2)x   Dw ( 3)x  bpw s\K-äo-thm t]mkn-

   äothm BImw

3. ( 3)x  s\K-äo-hv Bbn-cn-¡Ww

69. ( 1)x  , sin x , (2 3)x   F¶nh kam -´c

t{iWn-bnse XpSÀ¨-bmb aq¶v ]Z-§-fm-bmÂ

1. 2x          2. 
2

3
x               3. 

2
2

3
x 

70. A F¶ Sm¸v Hcp Sm¦v 2 aWn-¡qÀ sIm­v
\nd¡pw. Cu Sm¦v \nd-bm³ B ¡v 3 aWn-¡qdpw
C ¡v A©v aWn-¡qdpw Bh-iy-ap-­v. F¶mÂ

1. A bpw B bpw Hcp-an¨v Xpd-¶mÂ Sm¦v 
6

5

  aWn¡qÀ sIm­v \ndbpw

2. B bpw C bpw Hcp-an¨p Xpd-¶mÂ Sm¦v \nd-
  bm³ th­p¶ kabw 2 aWn-¡q-dmWv
3. A bpw B bpw C bpw Hcp-an¨v Xpd-¶mÂ Sm¦v
   \nd-bm³ Hcp aWn-¡q-dnÂ IqSp-XÂ kabw
   FSp¡pw.

71. 2ax bx c o   F¶ ka-hm-Iy-¯nÂ

1. C t]mkn-äohv BbmÂ 2 aqey-§fpw t]mkn-
   äo-hm-bn-cn-¡pw

2. C t]mkn-äohv BbmÂ c­v aqey-§fpw s\K-
  äo-hm-bn-cn-¡pw.

3. {]kvXm-h\ 1 epw 2 epw \nK-a-\-̄ n-se-¯m³
  a bpsS NnÓw IqSn Adn-b-Ww.

72. 1. Hcp _lp`-p-P-¯nsâ _mly-tIm-Wp-I-fpsS
  XpI 3600

2. both ( 2)x   and ( 3)x  can be negative

    or positive

3. ( 3)x  should be negative

69. ( 1)x  , sin x , (2 3)x   are three consecutive

terms in A.P then

1. 2x          2. 
2

3
x               3. 

2
2

3
x 

70. Tap A can fill a tank in 2 hours. B takes 3

hours and C takes 5 hours to fill the tank then

1. If A and B are kept open together. It will

    take 
6

5
 hours to fill the tank

2. If B and C are kept open the time required
    to fill the tank is 2 hours

3. If A,B and C together will take more than
   one hour to fill the tank

71. For the equation 2ax bx c o  

1. If C is positive both roots are positive

2. If C is positive both roots are negative

3. To make conclusions about the statments 1
    and 2 the  sign of ‘a’ should be known

72. 1. The sum of exterior angles of polygon is 3600
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2. A regular polygon with an exterior angle
    equal to double of its interior angle is
    possible

3. A regular polygon with an external angle
  of  800 can be drawn

Read the following passage carefully. Then
answer the questions 73,74,75.

Probability of an event =
number of elements in event 
total number of out comes.
For example, When tossing a coin, number of
possibilities of getting head is 1 and the total
possibilities 2 (head or tail). Then the probability

of getting head =12=
1

2

73. Four teams A,B,C and D are participating in a
tournament on league round, then the
probability  that the team A play the first match

[a]
1

4
[b] 

1

2
[c] 

1

3
[d] 

1

6
[e] 

1

5

74. In the above question, what is the probability
for both C and D are not playing the first match

[a]
1

2
[b] 

1

3
[c]

1

6
[d] 

3

4
[e] 

1

5

75. In a club there are 5 gentlemen and 4 ladies. A
lot is made to select one man and a lady from

2. B -́cnI tImWnsâ Cc«n _mly-tIm-WpÅ
   Hcp ka _lp-̀ pPw \nÀ½n-¡m³ Ign-bpw.

3. Hcp _mly-tIm¬ 800 hc¯¡-hn[w Hcp
   ka_lp-̀ pPw \nÀ½n¡mw

Xmsg X¶n-cn-¡p¶ passage {i²m]qÀÆw hmbn v̈
tNmZyw 73 Dw 74 Dw 75 Dw D¯cw Fgp-XpI

t{]m_-_n-enän F¶Xv, Hcp kw`hw \S-¡p-
t¼mÄ Hcp {]tXyI cq]-¯nÂ kw`-hn-¡m-
hp¶ Nm³kp-I-fpsS F®s¯ sam¯w
Nm³kp-IÄ sIm­v lcn-¨-Xm-Wv. DZm-l-c-W-
¯n\v Hcp \mWbw tSmkv sN¿p-t¼mÄ
‘Xe’In«m-\pÅ Nm³kp-I-fpsS F®w 1.
sam¯w Nm³kp-IÄ 2. AXm-bXv ‘Xe’bpw
hmepw BImw. At¸mÄ Xe In«m-\pÅ t{]m_-

_n-enän = 12= 
1

2

73. A,B,C,D F¶o Soap-IÄ eoKv du­nÂ ]c-
kv]cw Gäp-ap-«p-¶p. A BZy aÕcw Ifn-¡m-
\pÅ t{]m_-_n-en-än...

[a]
1

4
[b] 

1

2
[c] 

1

3
[d] 

1

6
[e] 

1

5

74. apI-fn-es¯ tNmZy-¯nse kml-N-cy-¯nÂ
BZy aÕ-c-¯nÂ C bpw Dbpw Ifn-¡m-Xn-cn-
¡m-\pÅ t{]m_-_n-en-än....

[a]
1

2
[b] 

1

3
[c]

1

6
[d] 

3

4
[e] 

1

5

75. Hcp ¢ºnÂ 5 ]pcp-j³amcpw 4 kv{XoI-fp-ap­v.
Hcp \dp-s¡-Sp-¸n-eqsS Hcp ]pcp-j-t\bpw Hcp
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them to address an audience, is the probability
that a couple among them to be selected.

[a]
1

5
[b]

1

4
   [c]

1 1

5 4


[d] 
1

20
[e] 

2

9

Passage 2 (For the questions 76-78)

For an ideal gas the value 
PV

nT
 will be always

constant. That constant can be denoted by R.

PV
R

nT
  where P is the pressure excerted in

certain amount of gas.V is its volume and T is
its temperature in kelvin and n is the number of
moles of gas taken. n is directly proportional to
the mass of the gas taken

76. For a given mass of an ideal gas, the pressure is
P. if its volume and temperature are doubled,
then its pressure will be

[a]P [b]4P [c]2P [d] 
2

P
[e] 

4

P

77. Without changing the volume and temperature
of a certian amount of gas in a vessel, the mass
of the gas inside the vessel is halved then its
pressure

kv{Xotbbpw kZ-Êns\ A`n-ap-Jo-I-cn-¡m³
sXsc-sª-Sp-¡p-¶p. A§s\ B ¢ºnse
GI Z¼Xn tPmUn sXc-sª-Sp-¡-s¸-Sm-\pÅ
t{]m_-_n-en-än...

[a]
1

5
[b]

1

4
   [c]

1 1

5 4


[d] 
1

20
[e] 

2

9

Passage 2 (tNmZyw 76 apXÂ 78 hsc)

Hcp BZÀi hmX-I-̄ n\v 
PV

nT
 bpsS hne FÃm-

bvt¸mgpw R F¶p hnfn-¡p¶ Ønc kwJy-

bm-bn-cn-¡pw. AXm-bXv 
PV

R
nT

 . ChnsS P

F¶Xv Hcp \nÝnX amkv hmX-I-¯nÂ A\p-̀ -
h -s¸ -Sp¶ aÀ±w, V Cu hmX-I -¯nsâ
hym]vXhpw, T sIÂhn³ kvsIbn-en-epÅ
Dujvamhpw Cu hmX-I-¯nÂ AS-§n-bn-cn-
¡p¶ tamfp-I-fpsS F®w ‘n’Dw BWv. ‘n’
hmX-I-̄ nsâ amkn\v t\À A\p-]m-X-¯n-em-
bn-cn¡pw.

76. X¶ncn-¡p¶ \nÝnX amkv BZÀi hmX-I-
¯nsâ aÀ±w P. CXnsâ hym]vXhpw
Dujvamhpw Cc-«n-bm-¡n-bmÂ, aÀ±w ...

[a]P [b]4P [c]2P [d] 
2

P
[e] 

4

P

77. hym]vXhpw Dujvamhpw Ønc-ambn \nÀ¯n-
s¡m­v Hcp ]m{X-¯n-\-I-¯pÅ hmX-I-
¯nsâ amkv ]IpXn bm¡n-bmÂ hmX-I-¯nÂ
A\p-`-h-s¸-Sp¶ aÀ±w.
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***   ***   ***

[a] will remain unaltered

[b] will be doubled [c] will be halved

[d] will be 4 times [e] will be 3 times

78. 1 mole of gas filled in bottle having volume V
pressure P and temperature T. Suppose this gas
transferred to another bottle having volume 2V,
and then some gas added in it and its pressure
become 2P. Then additionally added gas (in
moles)

[a] 4  [b] 3          [c]  1       [d] 2         [e] 
1

2

For questions, 79 and 80:
Match the column I and II

If AB is a chord of length 6 cm. of a circle of
radius 5cm, the tangents at A and B intersect at
a point x (figure), then match the column.

Column I Column I

(A) AY (p) 4cm.
(B) OY (q) 3.75 cm.
(C) XA (r) 5 cm.
(D) XY (s) 3 cm.

(t) 2.25cm.

79. [a] Ap:Bp [b] As:Bp
[c] As:Br [d] Ap:Bs          [e] Aq:Bs

80. [a] Cq:Dq [b] Cs:Dt

[c] Cq:Dt [d] Cr:Dq            [e] Cq:Dp

[a] amä-anÃ

[b] Cc-«n-bmIpw- [c] ]Ip-Xn-bmIpw

[d] 4 aS-§mIpw- [e] aq¶p aS-§mIpw-

78. Hcp ]m{X-¯n-\pÅn-epÅ Hcp tamÄ hmX-I-
¯nsâ hym]vXw V bpw Dujvamhv T bpw aÀ±w
P bpw BWv. CtX Afhv hmXIw 2V hym]vX-
apÅ asämcp ]m{X-¯n-te¡v amän-bn«v Ipd¨v
hmXIw IqSn B ]m{X-¯nÂ \nd-¨t¸mgs¯
aÀ±w 2P Bbn amdn. F¶mÂ F{X tamÄ hmX-
I-amWv ]m{X-¯nÂ A[n-I-ambn \nd-¨-Xv.

[a] 4  [b] 3          [c]  1       [d] 2         [e] 
1

2

tNmZyw 79 Dw 80 Dw:
tImfw I  Dw tImfw I I  Dw tNcpw-]Sn tNÀ¡pI

Nn{X-¯nÂ AB, 6cm \of-apÅ Rm¬ (chord)

BWv. Cu hr¯-¯nsâ Bcw 5cm Dw
IqSmsX A bneq-sSbpw B bneq-sSbpw hc-¡p¶
tangents (kv]Ài-tc-J-IÄ) x Â Iq«n-ap-«p-¶p.
tNcpw-]Sn tNÀ¡p-I.

Column I Column I
(A) AY (p) 4cm.
(B) OY (q) 3.75 cm.
(C) XA (r) 5 cm.
(D) XY (s) 3 cm.

(t) 2.25cm.

79. [a] Ap:Bp [b] As:Bp
[c] As:Br [d] Ap:Bs          [e] Aq:Bs

80. [a] Cq:Dq [b] Cs:Dt
[c] Cq:Dt [d] Cr:Dq           [e] Cq:Dp
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